PR HIIK (RARLES
1-9 I 3-0
2-1
1-2
— A (MDA
Fia EAR fre o

; " g et

P we | wm | mex | 7 . i
?Wﬂ%ﬁ (Tﬁ%%) 9.0 -2 1 1 2
WR e (RE)
IE7K fill] 52 (%¥%L 0-2 0-2 0 2 3
AR M (AP &)
LR (i%f%) - 9.0 9 0 1
BEEA B (UiRE)

30 Ll E 30MD
TRER L H)I1 AR

= % f (A

EF4 B | I v . e
NS 22\
{DEK;‘L ﬁ (%%“i) 0-2 2-1 1 1 3
gt s (EEE)
#ﬂl%% (%Fﬁ%%) 920 0-2 1 1 2
HE R (HEE)
R fhith (JJLIEJIHI:@) -2 9.0 1 1 1
WA foth OIERRE S

5 — 1 g2-3=-1

47— 2220

5 1 gE3-2=+1



e )

PSS JNC )
BB e )

A ot OlFERAE) —
wW TR G

LESE R ()

e R Gl

W BCS (IEE)

— ¢ BFEA (MSA)

R s

2-0 2!1 0-2
A

0-2
e s A
1 200
30 B8 (30MS)

At

FadE S

Hll TRER AL
3-ADEE

LA W
1- 208

2-0

TRERL AR

—feZFTILR (WS)

2-0

SH A XD

W bl

ELA =

Hl

1-2

g S X

(LR 3)

Ot nAers)

(RS )

(HiB1)

(R )

(LT )
(THPHEs)



